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(a) 2   (b) - 2  (c) 1/2  (d) - ½ 
sZf 10 VG[ 20 JrR[GL TDFD 5|FS'lTS ;\bIFVMGM ;ZJF/M PPPPPPPPPP YFIP     

    (a) 115  (b) 120  (c) 125  (d) 135 
s#f k + 1, 8 k + 9 V[ V[S ;DF\TZ z[6LGF S|lDS +6 5NM CMI TM k =PPPPPPPPK[P 

  (a) 1  (b) 2  (c) 3  (d) 4 

s$f  4 + 8 + 12 + ........ + 200 = PPPPPPPPPPPK[P 

 (a) 5000  (b) 5050  (c) 5100  (d) 5150 
       s5f  1, 1, 2, 3, 5; 8, 13, 21, 34...... V[ PPPPPPPPPPPPz[6L K[P 

 (a) ;DF\TZ  (b) U]6MTZ  (c) lJQFD  (d) lOAMGFSL 

s&f a = - 3, d = 4 CMI T[JL ;DF\TZ z[6L PPPPPPPPPPPK[P 

 (a) -3, 1, 5, 9, .....(b) 3, 7, 11, ..... (c) 4, 7, 10, ..... (d) V[S 56 GCLP 

s*f ;DF\TZ z[6L 3, 6, 9, ......    , 300 G]\ K[<,[YL 10D]\ 5N PPPPPPPPPK[P 

 (a) 237  (b) 273  (c) 327  (d) 372 
s( f ;DF\TZ z[6L 0, ½, 1, 3/2 ..... CMI TM T[ z[6L DF8[ d = PPPPPPPPPPP 

(a) -1/2  (b) 1/2  (c) 1  (d) - 1 
s)f 6 GF 5|YD 30 WG 5]6F"\S U]l6TMGM ;ZJF/M PPPPPPPPPP K[P     

  (a) 2790  (b) 1800  (c) 3600  (d) 900 
s!_f HM T3=8 , T7 = 24 TM T10 =PPPPPPPPPK[P 

(a) -4  (b)  28  (c)  32  (d)  36 
s!!f V[S ;DF\TZ z[6L DF8[ a = 2 VG[ d = 4 CMI TM S20 = PPPPPPPPP K[ 

   (a) 600  (b) 800  (c) 78  (d) 80 
 
 
5|`G Z DFuIF D]HA NFB,F U6MP                                                                                   s!$f 

s!f   ;DF\TZ z[6L 5, 11, 17, 23 ........ G]\ 101D]\ 5N XMWMP 

sZf ;DF\TZ z[6L 8, 11, 14, 17 ........ G]\ S[8,FD]\ 5N 272 YFIP 

s#f ;DF\TZ z[6L -5, -15, -25, ........... G]\ 22D]\ 5N XMWMP 

s$f  ;DF\TZ z[6L 1, 1.5, 2, 2.5 ........ GF 16 5NMGM ;ZJF/M XMWMP 

s5f ;ZJF/M SZM o 7 + 12 + 17 + 22 + ....... + 102 

s&f  ;DF\TZ z[6L DF8[ Tn = 6n + 5 CMI TM Sn XMWMP 

s*f V[S ;DF\TZ z[6LDF\ T3 = 8 VG[ T10 = T6 + 20 CMI TM Tn XMWMP 
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